EECS 360 Short Quiz #2

Signal and System Analysis
October 4, 2016
Key

Name:

Open book, open notes, no calculator, Be neat, write legibly. For full credit you must show all work and justify each answer.
You may write on the both sides of the paper, and use additional sheets of paper if needed.
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1. (35 %) Determine the output y(¢) of a system with impulse response h( t} = 8(t +1) + u(t ~ 2) and input x(f) =
e "u(r).
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2. (40 %) Determine the stability and causality of the LTI systems with the following impulse responses:
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3. (25 %) Given the convolution sum

y[n] =xln]«hln]= 3 x[m]hin-m],

show that this can also be expressed as

y[n] = h[n] *x[n] = f: h[m]x[n ~m].
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